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+ Three Hours

. Find the fourier series of f (x) = x (2] - %) in (0, 20).
. Find the Fourier Cosine Transform ofe =%, (a > 0).

. Form the partial differential equation by eliminating the arbitrary funection ‘f’ from
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Part A

Answer all questions.
Each question carries 3 marks.

flz-xy, 22 +y%) = 0.
Find the binomial distribution which has mean 2 and variance /3. = . ..

Define type I and type II error. ‘
(6 % 2 = 15 marks)

Part B

Answer all questions.
Each question carries 5 marks.

Find the Fourier series expansion of f(x) = 2 + x in (- 2, 2).

Find the Fourier transform of unit step function.

Solve x% p? — yzq — 22 = 0.

A random variable X has a Poisson distribution of V2 P (X £1)=P (X s 2) find P (X =0).

A random sample is taken from a normal population with mean 30 and standard deviation 4. How
large a sample should be taken of the sample is to be between 26 and 35 with probability 0.98 ?
(6 x 5 = 25 marks)
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Part ¢

Answer alj Questions,

Each fuyy question carpipg 12 marks,

Find the Fourier sepjeg f(x)=|

Qosx]in—ns‘xsn.
Or
12, PFing the Fouripr Séries €Xpansion of
1, O<x<y
f(x)~{2’ l<x<g
13. Fing the Fourijer Transform of f(x) if
IT-fx| | <1
f(x)‘{o, 1> 1
T sint ¢ T
Hence Prove that Ty dx= 3"
0 X ,
Or
14. Fing [ (x) of jts Fouriep sine transform is *s\.
7 +1
15. Solye 52 (p?

tg2+ D=2

Or
16." Solve Pe-p-9)(; *~qy) = pg.
17. Ing norma] dl'stributi )
€ Mmean anqg variance,

.

Oy
18. Fita Binomig] distribution to the foHowing frequency distributjon
x 0 1 2 3 4 5 6
f 13 25 52 38 ®n 16 4
19, Two independent Samples of sjze 7 and 8 item hepe the following values
Sample § 10 g9 10 14 10 9 8
Sempleyy . 1111 g4 15 8 13 44
Do the estimates of means of DPopulation differ signiﬂoantly at 5% leve] of signiﬁcance.
Or
20. The mean ]

ife time of 4 sample of 9 items ig 49.11 ang standard deviatijop 2.47,
signifi

value diffey cantly from, the assured megap value 47 5.

Does this meap

5x12= 60 marks)




